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1.
7, 2, 23, 40
, 1, 1

2.
X 4 HoOH 1.0~1.4 1.5~1.9 2.0~2.4 25 =<
HERT LY (n=17) - 45 (57%) 35 (43%) -
BB R K kM (n=2) - 15 (50%) 14 (50%) -
FRER UM (n=23)| 15 (5 %) 124 (52%) | 10/ (43%) -
FRth R BERE (n=40)| 2/ (5 %) 188 (45%) | 18 4 (45%) 28 (5%)

B3 A L ARAEBHOEET, ABONSVHDOREBVWFHMEB/ LD TH S,

3.
IHH Xt 7 BE | BRE f B

5 K | &l gé 2E#| PH . ) . - »
w | BOKM#E | 49.36 | 12.68 | 12.68 | 2.00 | 5.13 | 10.55 | 10.05 | 21.40 | 0.311 | 0.373
| B/IM# | 38.39 | 9.22|16.14 | 1.65 | 4.84 6.78 | 6.40 | 17.20 | 0.310 | 0.372
* SEYg# | 45.02 | 11.48 ] 20.38 | 1.80 | 5.07 8.29 | 7.52 | 18.84 | 0.311 ] 0.372
5| BOKf# | 56.06 | 14.5025.30 | 2.30 | 5.12 | 14.60 | 11.70 | 16.80 0.312 | 0.376
| &/M#E | 38.23 | 10.26 | 16.67 | 1.45 | 4.75 7.20 | 7.70 | 3.70| 0.308 | 0.371
% FE | 46.79 | 11.45]19.70 | 1.81 | 4.95 | 11.40| 9.97 | 12.44| 0.306 | 0.375

RehO¥EIL, BRE1,

213 1,,90N NaOH BEH (me) , #t pHUUTIZ % TH 5,
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o % % - B B B
w o f; S %5 % 7
B Rl | EST (kg erd) Befel | BRS | FEST (kg erd)
¥ f| 138 1 1.0 0.43 1.1
7w ) 14 0.74 0.91 0.78 0.65 1.2
2
, 11 3 0 1.5kg/cm?
CK)
& L35} RiEHE K UTEF R 7 LB
153 ) 8.0 6.8 0.83
i & 8.8 3.7 0.81
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